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Note:(— Answers may be written either in English or in

Hindi; but the same medium should be used
throughout the paper.
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Attempt three questions’in all.
Question No. 1 is compulsory.
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1. Comment in 4-5 lines on any seven of the following:

(a) Causes of AIDS

(b) Kwashorkor
P.T.O.
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(c) Types of Diarrhoea

(d) Bitot Spot -

() Diffefence between type I and type II Diabetes
(f) Causes of Fluorosis .

(g) Oral Rehydration Therapy

(h) Salt Iodization |

(i) Prevention of Botulism poisoning

() Il effects of Alcoholism on Health.
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. Define Anaemia. Describe in detail its causes,
symptoms and preventive measures.
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. (a) List the causes and prevention of constipation.

T % 0 1d Ue F 39y gEitve HRE

(b) Discuss the basis of diet therapy during the
treatment of typhoid fever.
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. (a) Wriet about complications of Diabetes.
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(b) Discuss definition and causes of Obesity.
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. Write short notes on ahy three of the following:
(2) Smoking and its Impact on Health

(bj Food Safety and Role of HA.C.C.P.

(¢} lodine Deficiency Disorder

(d FPO and MPO

(¢) Causes of Protein Energy Malnutrition.

P.T.O.
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